VohBR =2 R R A xR IR
BLIICET M2 Blkp W 111 # 12 % 1 p
PR ET Fdor p e SERCE W FT
BT 8 # RS 53

KERR
KEEH 54 LR
R R Loaldedo i B3 0 L &6 g0 £ 63
WEFRH R L HE —FPF s BV H BAMaRAw ¥ o P v E G I AR

ET L C RN TN

&

g}hgﬁl’g_zt.lig J__(r, qﬁﬁi’k]’v
CEEYFREL &dcnkAp

ﬁ'ﬁ‘ LRR(LESPY)FE KT H

43 T N2 o= N

R 2rY A ML &b R

A7

FAw gy ephh AR - Lk

R E

2. %3 ¥ - ik

fRg gy o

SKRIFFETHE-BKFIEVE 3HE2 3

Al e L etk R ol o

B 2L VY FRE &SR

=2
o
4

>
N
g

=L 23]
T

R

2z .
.

l. 27 :/ﬂ?i‘ - T i S A
SHBESLEERIELY IR
CHE P e
%4’?2\5&»/&" M Db gz s
EEFFETEy
Skﬁ%%u~?@ﬁﬁﬂiw§’#
re PELJ R A4 T g e Tepd

BEBPEEA TR 2K '“Eﬁ"

o 22 TR R | 2 R A- g S FETR
fe 2L o
AFE 2 A% wint & E£PFwt o it
T2e B e B Nl B it o = A AR o
5. %fs » By Te x

=T =

Fw w33 e

tee® s B AR R g A dy if -

F9) 0 JET IR P ST -

QHEF R NEE 2 FEYH RS
2 F TR FAAmERfERE-

3. BB N I R kY (SRS 2

HEEPHL &SR E - B8 &S -
P F s HEg Mg 4 2§
B4 o

4, TR EFR TR > w2 H5ER
el o

5. 84 L1 el
BRI o

6. & & IR 0 2 PRSP AR
BE 2 ET I RIRFIFAERD B
¥ o

TERPL BT H




4

|* T4 frQuizlet BEAEFA FHF
BT EROPRER - S 2 5

P

AL
3. BEBEHE4 L pmiR

R SRREE XEF S B2 F 0 F AFHOCE himd o 1t

AR

)’\
-\1\

-

CHIARFE 2 EF L L ECRE R Y -

&
BEEE R RS FAAY G AR § 2T E KT

O AT 0 B Ak o

xR B Quizlet f—*b?stgp\’gméfk s deE N L R TR R

WE S ES TR R E R F BN A RS N G R

Ba4 b AEpES > F RS mran gt > P LAY W
4

Bk 13 2 it

(B &8 %)

HERFREBEPER KPR B ERECTR O MR F A H

WEYPFORR  FARNFFE Y TR

CEA P RHEE A PR 4 BB FREENE R

AL ATE PR R AR, -

CEWEF S G B S R IR B 4 E W N A




